(secondary). Sample paper (2024-25)

Roll No.
ICEIG
Science
(Physics, Chemistry, Biology)
(Hindi, English)
Academic/Open)
Time allowed 3hours| Maximum marks 60

o FIT JARTT FX foh 57 TR T H Hfed Iv6 &
H133IR 30 92T &

e Please make sure that printed page in this
question number are 13 and it contains 30 question

[

o U UF & GV AR fET 91T IS Y B GaRT 3
JiEcehT T Tgell J56 TR ferdr ST=ir 1T |

e The code number on the right side of the question
paper should be written by candidate on the front
page of answer book.

o ThdY T2t &7 3R folal & Ugel 39T hATdh TI@=lT
g |

e Before beginning to answer a question; its serial
number must be written.

o YT IR YIEcehT & Well Fodl o BIS|

e Don't leave blank Page/Pages in your not work.




o IR GIEhT & AR HIS 31T Hre A€t & Sreal |
37T AT AR & oy T ﬁl‘@fé’@?ﬁl?a?rﬁ
hIC|

e Accept answer sheet no extra sheet will be given
.So write to the point and do not strike written
answer.

o TSIt 37TT el TaX U UF WX 37927 ford |

e Candidates must write their roll number on the
guestion paper.

o FHTIT TRAAT T IR &1 ¥ Ugel Ig FlATRTT X of
cr%arq-arcro‘raﬂé‘r% |oRYeTT % SR g AT H Fis
T eTaT TAIhR T8l fhdT AT |

e Before answering the questions ;ensure that you
have been supplied the correct and complete
question paper. No claim in this regard will be
entertained after
examination.

AT fAcer:
1. gAY 927 37faarT g
2. EITSS TREAT o FE fdeho ferdd |
3. Gedieh WeeT & 379 1Y gRliT 7w ¥ |
General instructions:
1. All questions are compulsory.
2. Write the correct answer in objective type question.
3. Marks of each questions are indicated against it.



Q. 1 T & q i IT 9Ty ofF TAT & HIH H Tl o
ST TehaT B

A ST

B &

C Tolli¥ceh

D fAcd
which of the following materials cannot be used to make
alens.

A water
B glass
C Plastic
D clay
1 marks
Q2.3¢ T8 TegfATHTH & AR & IaTS Sl AT I@A

§U 3 3TITY HIC &%l T 2 T[T X AT ST F 36
aR &

A 3T 8T gl

B 21af=iT g1 STwaiy

C 3melY g1 SIeaft

D o1 & &Ig =gl

Q2.If the cross sectional area of an aluminium wire is
doubled and length remaining same, its resistivity will
remain _
A same
B double



C. halved
D'None Of These
1 marks
Q3.fT AT F TAE M X FT___ FEd 2
Q 3 . The rate of the flow of charge is called
1marks

Q 4 . SEEEIN T Se1T FehrRl T hieT HY T I TR &

Q 4. Name the phenomena on which formation of
rainbow is based?

1 marks

Q 5. ﬁmf?»l@?rqaaﬁa’mmr% ITAFYT A 3R FROT
B, 95T & &l fqU 1T 3ugSFd fdshed I Tl A gC

3R GITAT

31efen=T( A) : T8 ETSE GIW # 3TUeh! T hi a&] TISE &
¥ fe@rs &t § o e $r aq Fase &9 & oS gt
Gl

HROT (R): &E S W &1 3T &3dr & 39 o F &
YAV Fleh Sleh TohdT ST ThaT ¢ |

A: AR R TErg dUTR, A Fr gl sarear g |

B: A 3R R gl T&r § 94T R ,A &1 T&T 1T g1 ¢ |

C: AT %w\d R 3\ ¢

D: Aacq%qw RAT gl

Q5. The questlon below consist of two statements,
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Assertion (A) and Reason(R), answer the questions by
selected the appropriate option given below

Assertion (A): In hypermetropia,a person can see the
distant objects clearly but he cannot see the nearby
objects clearly.

Reason (R): Hypermetropia can be corrected by using a
convex lens of suitable power.

A: Both A and R are true and R is thecorrect explanation
of A.

B: Both A and R are true and R is not the correct
explanation of A

C: Ais true and R is false.

D: Ais false and R is true.

1 marks
Q6.za1eaT FIfSTT foh I8 T4t AgT feAfeArd|
Q.6 Explain why the plants do not twinkle?

2 marks

Q7 : g e Al 220 dlec & fdegd @i § 5.0
WWW%%WW@%@W
@ﬁr&ramza%:ﬁrmaqqm el il IR Teud
AL

3727
Q 6.facgd U fhd Fgd §? SHHT T T S| A fold ?



Q.7 An electric motor takes 5.0 A from 220 V line .
Determine the power of the motor and energy consumed
in 2h.

Or
What is an electric current? Write formula and SI unit.

2 marks
Q 8:
a) faegd URT @1 fohe I § AT ST &1 39 37 Hl [aegd
qfaer 3 g e & SieT STaT B 59 I &I Thy Hohd
GaRT ve i fohar STaT 8
b) T THARAT (1A) & IRATT |

Q.8 a) Name a device used to measure electric current,
How is it connected in an electric circuit? Write symbol
of this device.
b) Define one ampere.

3 marks

Q 9: TohdT YRTATET JATHR TTRT o FROT Il &1 T
guie ST |

dr
farege aRal aur arfersy & QAT 3UANeT gis arel &
mmsﬂ%mﬁ@vammmﬁ%mml

Q.9 Describe the magnetic field due to a current through
a circular loop.

Or
Name two safety measures which are used in electric
circuit and appliances. Also illustrate their working .



3 marks

Q 10:a) 3dcT GUUT AT 37dcel GUUT & &1 37X TISC |
b) gqur = faf@T
¢) 2 HIET BIerd gdf aTel fohdT 3Tadel ol T &THT AATd
hITSTT|

34t
TN gUUTt SaRT IRadeT & foIw ygerd 718 Reg aRarér
I SITEAT HIfST|

Q 10 . a) Differentiate between convex and concave
mirror.
b) What is mirror formula?
c) Find the power a concave lens of focal length 2m

Or
Explain the new symbol convention used for reflection
by a spherical mirror.

5 marks

Section B Chemistry

Q 11: ArIfTgd # @ i 41 37 Wiey yerdt A
FaepceTferaT &I Jehd &7

%%%%

)
)
)
)

Oo0Omo>

Q.11 Which of the following gas prevent rancidity in edible product-
A)O:
B)H:



C)N2
D)Cl2

1marks

Q 12. 2AgBr | |2Ag+Br:

IR AfATRAT foRe g i 1R 2
A)FsATETH B) AN C) Tl 31TATHATI D) 518 A IS 78T
Q.12 2AgBr ------ 2Ag + Br2
What is the type of above Reaction?
a) exothermic
b) endothermic
¢) Combination
d) None of above
1 marks

e HAeT 13; Teh 31T & ST fae el ol Geleleh g |
Q.13 is a nonmetal which is good conductor of electricity.
1marks
TeeT FeR 14: TETdayar Fd Fga & ?
Q 14. What is malleability?
1 marks

Q 15; [AFAT T U7 & & » Y &

HASHYA (A) AR FROT(R), 9T & oA QT 7T 3Uerd faehed i ==
X 8T 3R SIToT|

JFAFUT (A) : HCI , HNO,3TE el feraret & 3rairr 3ifreraTor wefidia
A g |

0T (R) : HCI AT TsT HNOR31TTE; STel H gefeht H+ 3T S & |

A) AR REET TcT g dJUATR , A ST TgI caT&T ¢ |

B) AR RGHAT T § AT R,A FI Tgl Ir&AT 18T ¢ |

C)ATIE W R T gl g

D) AT AL § R R T T |

Q.15 The question below consist of two statements :

Assertion (A) and Reason (R) , answer the question by selecting the
appropriate option given below:

Assertion (A) : HCI , HNOg, etc , show acidic characters in aqueous
solutions.

Reason ( R) : HCl and HNO; etc , give H+ ion when dissolved in water
a) Both A, and R are true and R is the correct explanation of A .



b ) Both A and R are true but R is not the correct explanation of A.
c)Ais true but R is false.
d) A is false but R is true

1 marks

Q 16: [Tt ITATHAT T 3T F1T FHSTA 2 TATTTAh THIHIOT AT
Teh 3G1eX0T GITAT|

Q.16.What are decomposition reaction? Give one example with chemical
equation?
2marks

17: €ITael HIST &1 THE TR G 3R & 3a1er forg |

Q 17 . Write the chemical formula and two uses of washing soda .
2 marks

Q 18: Tl faergsit, A,B,C T STef A1 feh Feeh & Sirel &l Sicil g o pH &
AT ShAT: 0,7,14 9TCd g1 ¢ | it AT [derge -

A) 3eTHleT §7

B) Usel 8TRIT § ?

C) Y&l IFalIT 87

Q.18. The solutions A, B,C when tested with universal indicator showed
pH as 0,7,14 respectively, which solution is -
a) Neutral
b) Strongly alkaline
c) Strongly acidic
3 marks

TaT e 19: 3T JTRTHIATIIT o forw Fefior faf@w
i) HTT o AT 3RRA
ii) STeT o AT e ad
iii) STeT & ATy I
3r2qar
Giest 3R 31TEF H dieT 37 forr |

Q 19 . Write equation for the reaction of :
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i) Iron with steam
ii) Calcium with water
i) Potassium with water
Or
Write any three difference between a mineral and ore .
3 marks

Q 20 a) ATSFAITCT T G TAT Felaciol foig HI&TUT FT gHar ?
b ) SRATeT GART 31T 3Tcohigel Ud T A oleh TFCI3THT H hdl 3TN
gohd & ?
3rerar
a) A=faf@a aiffet & & e -
i) CHs-CH,- CH - OH
i) CH,- CH,- CH,- OH
b) fAfaf@aa JifAwt fr == Rffsa fifsw]
i) TIATeT 31T
ii) gFatel
iii) ST

Q 20.a) Write the chemical formula and electron dot structure of
cyclopentane .
b)How would you distinguish experimentally between an alcohol and a
carboxylic acid ?

Or
a) write name of following compounds
i)CH;.- CH, - CH- OH
i) CH;- CH,- CH,- OH
b) Draw the structure of the following compounds
i) ethanoic acid
i) Hexanal
iii) Butanon

Smarks

Section C(Biology)
Q 21 : AT AT A ek J0TgH &:
a)XX
b) ZZ
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c)YY
d) XY

Q 21. Sex chromosome present in human female is :
a) XX
b) ZZ
c)YY
d) XY
1 marks
Q22: ﬁmﬁﬁaﬁamﬂ{@mmﬁﬂﬁwaﬂﬁ%:
a) 91y , g AT 3TH
b) 1, JAT ATAT
c) SR I AT grefY
d) 9T\ ST dUT TR

Q 22 .Which of the following constitute a food chain?
a) Grass, wheat and mango
b) Grass , Goat and human
c) Goat, Cow and Elephant
d) grass,fish and goat
1 marks

Q 23: Y &Y RIS fh0Tt & STet arel 9T ol +ATH gl

Q.23. protects earth from the harmful ultraviolet radiations.
1marks

Q 24: FisT T JTA AT 3R TABH SIAr ATTAd HLal 87
Q. 24. Which endocrine gland secretes both hormones and enzymes.
1 marks

25: 31T YT A) AT Jebel AHh o IYANT T FeTg &1 ATl g |
FUT:R) ARRITFET Tl Seiiet & foIT 3madet 7 3maeear gl ¥1 78
gTHTT WICIT, IAT dUT FIEEISC o 3UTATT dl [AITAT AT 8|

AAIR REAT IcT & dUTR , A T T8I SIT&AT B |
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B) A 3R R gl<T & g ar RA I Gl arear sigT ¢ |

C)ATIE W R T el g
D) AR 7 § RJR AT E |
Q.25 Assertion (A) : It is advised to take lodized salt

Reason ( R) : lodine is essential to make thyroxine hormone which
controls the metabolism of carbohydrate , protein and fat.

1 marks
Q26: it fsham & AfETseh hr T 3RS &2
Q.26.What is the role of the brain in reflex action ?

2 marks
Q 27: RET0T fohar vge O frg yaR AT g7
Q.27 .How is pollination differ from fertilization?

2 marks

Q28: AT STeled dF T AT TAT3 |
Q.28 . Draw a well labelled diagram of female reproductive system.
3 marks

Q 29 : A & G A HY Tl Tl b1 fATHe=T F&T0T FaclT FT & AR
gid 87
314t

Teh silel GooT dTel Y &1 HehdUT Teh Hhe, Dol dTel GIET (BB) & T :
i) S HAfd & Gell T LT SHAT gram?

i) G AT H HHRTIUT EaRT 1o Gl 1 FfaRre fohar gram? g
T HTATY

Q.29. How do Mendal's experiment show that traits are inherited
independently?
Or
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A blue coloured flowering plant (BB) was crossed with white coloured
flowering plant (BB)
i) What will be the color of flowers in F, generation?
i) What percentage of white flowered plants will be in F, generation
through self pollination of F; plants .Explain with diagram.
3 marks
Q30:
a) Teh Tl o 37T FIC AT AHI o T STV |
b) YeRTRT HYSINOT 3T & ERTeT B1oY aTer TfeeT HeaTTait &1 fafae|
3 ar
a) ATId T¢I I SYITATcHS FIC T &l ATHIohd T TS|
b) 9TaeT fohaT 7 IR Td TAaRE & FAT &7 JUTA H |

Q.30. a) Draw a cross- section of a leaf and label it .
b) Describe various events taking place during photosynthesis.
Or
a) Draw a labelled diagram of cross - section of the human heart.
b) Describe the role of saliva and bile juice in the process of digestion
5 marks.



ISecondary Science Paper key

Ans.1.d) AT
Clay

Ans.2.a) 3d=T &1 gl

Remain same

Ans 3. fdegd grT
Electric current

Ans.4. YehTT T faaiqor
Dispersion of light

Ans.5.b) AG R AT T &
Jar R,A & gar
SUTEAT AT &

b) Both A and R are
true and R is
not the correct
explanation of A

Ans 6. Ig IRT T 39T g2l & FHIT 8l &, SHTAT Fehrl o Jgcd Al &
w7 7 s & &1 AR 59 Rl 78 Y 3ok et fSig W A Y Feft g
Gl & AR e H JAA Tl dTel Th1el H glel aTell IRl e e &
3TTYTH & 19T | SHRT AT & o I8 A §H Uah o1l digdT T Tehrer f&erar
£1 I8 femfeame arel 93Ta &l HHTCT X &1 § TS HROT U 81
feafeara|

The planets are much nearer to the earth as compared to the stars, so
these can be considered as broad sources of light. If we consider a
planet as a collection of a large number of point sized source of light
then the total variation in the amount of light entering in our eye from all
individual point sized sources will average out to zero. It means that we



get light of constant intensity from a planet. This nullifies the twinkling
effect and hence the planets do not twinkle.

Ans.7. [dHaeaT, v=220V

faega amr, 1 =5A
AT, t=2 F¢
faegd AT & eaferd,
P =VI
P=220x5
P=1100W
faegd AR garT 3uFeFd Fal,
E =Pxt
=1100Wx2h
=2200Wh
=2.2kWh
=2.2 gfae
=2.2x3.6x10°J
=7.92x10° [

3rar
faed T-—-for el aTerh 31 AT & JaTs i aX & faegd aRT Fed ¢ |
@, | =Qit
Igl'I' faegd ORT,'Q" TRl TUT 't HHI T GATAT & | e rT &7 S|
AFH VFRR g

Electric current
() =5.0 A
Potential difference
(V)=220V
Power of electric motor,
P =VI
=(220 x 5)W
=1100W
Time (t)=2W
Energy consumed, E=pxt
=1100Wx2h



=2200Wh
=2.2kWh
=2.2x3.6x10°J
7.92x10°%J
Or
Electric current: The rate of flow of charge through a conductor is called
electric current.
Formula, 1=Q/t
Where, | is electric current, Q is electric charge and 't' is time .
The Sl unit of electric current is Ampere

Ans.8. a) faegd 4RT &I THIHIET & AT ST 8| faegd aRuy & veidfiex
aff’gl'U'ﬂ'shH F SaT ST & | THIHACT T ohd —A g1
b) A IIAE, | = Q/t

1 A=1c/1s
HTAT & Iie; fehdll TTereh H Ueh Qehs H Teh Grell# TR FaTled &1 ol 3HH
yarfed faed ORT &t Tah UFRR FEd € |

a) An ammeter is used to measure electric current it is connected in
series in an electric circuit symbol of ammeter
b) We know that
I=Q/t
1A=1c/1s
1 Ampere: Current flowing through a conductor is said to be 1 A if one
coulomb charge flows through it in 1 s.

Ans.9. ThdY YRTATEY JAATehR UM & ShRUT Yeehrd &7 - 519 fohdll bR
qmﬁﬁmwr%a&ﬁar&ﬁ%ﬁm?u%ﬁg%mﬁmwm
3cUooT g ST & qducma%?»?r(m)ﬁr‘érr\rm‘q’r%?rmwéﬁéﬁsﬁ
TR & T e I &, mmﬁga:wmmwmw
WWWWHHTWW%l@HTmm%HWGWﬁW
aawmé:éawmﬁ%ﬁsaamaﬁ%mw%maﬂ%w
wﬁaﬂﬁglwﬁm%uc%ﬁgﬁwm%@vmgﬁﬁ
ST ehe 9T LT JW@T3T o THTT ol9TaT g | AR % G AT & ANeTET &
HRUT o[d & HIcR Teehl &1 @IV Teh &1 &= & giehl &

3r2rar




i) 8 HIeh R

aqué:awwm fega a9y # el Q1Y & HRUT faeg=AY AR Arfer
ﬁm%uﬁﬁmm%ﬁamﬂ:aﬂ%mﬁmwwqm
qzaﬁmﬁm%mwmwmwﬁ—a%aﬁ
mﬁaﬂ?r%ﬁa:a%‘rml

i ﬁ‘cru?rtﬁ:lsr

ﬁaﬂﬁmwm fdegd wgst OAT aR & [SaehT aTef11eh Sgd FH gl Sid
T TaTeT 3FIaT SRYST 3 FHROT aRTY F I YR SarEd e &,
WWWWW&MI%I hel FG6T IRIY T i1 & 3N T 9aTg
o AT & TSI FIROT AR 38T SR HIRIS SR gt & 9 e |

Ans.9. magnetic field due to a current through a circular loop. When
current flows through a circular loop, then magnetic field develops
around every point of the loop in form of concentric circles. At every
point of a current- carrying circular loop, the concentric circles
representing the magnet field around it would become larger and larger
as we move away from the wire. By the time we reach at the centre of
the circular loop the arcs of these big circles would appear as straight
lines. Every point on the wire carrying current to give rise to the magnetic
field appearing a straight line as the centre of the loop. Every section of
the wire contributes to the magnetic field lines in the same direction
within the loop.

Or
Q.9.the two commonly used safely measures are
i)electric fuse wire=
working on electric fuse-it is a wire which is used in the live wire,lt is an
alloy of lead and tin whenever there is a flow of heavy electric current
and cuts off the supply of electric current . Thus, it saves the electric
wires from damage.
Working on earth wire : It acts as a safety device whenever there is a
leakage of electric current in the metallic body of an electric appliance
like an electric iron, toaster etc. By using earth wire , the user does not
get a sever electric shock as it provides a low conducting path for the
electric current.

Ans.10. a) 3R 31 3/@de gUuT & 9T e @d 3R & -



3ol GUUT
Koi) 3Tl gUUT & URTacieh ol aTeY T 30X ash gl &1
ii) Shael THTAT Ufafde go1d g1
|||)W14T€1T9ﬁﬁ?m%'|

iv) 9fAfee arEg & PR A BT FATTE |

V) FETANR &1 et Y AR T B

37adof guoT

i) 3TacTel GUUT #H WRTdcieh ool 31X FI 3R Tk gl g |
ii)mmaﬁwmmﬁma’rwawﬁﬁaaaﬁ%l
iii) I AT 3ol glal YohR & Ifafee goid 8 |
iv) SIS Bler, a7 auT a&] & MR HT Tl &
)Wﬂﬁﬂﬂﬁ@fﬂl‘éﬂﬁvﬂmﬁﬁm%l

b) EUOT HF - 1/v+1/u=1/f

—%a’ﬁgi“r

v= qﬁﬁﬁﬁ@

f=thlerg

u,t,v & ST ST T gUUT T FHgeld g

C) 3AcTeT ol sl thlehd GJI FHUTcH BIdl o,
t=-2m

P=1/t(inm)=1/-2D=-0.5D

3rdar

Il GYUTT 3 GaRT IR & (oIl o1 HIarg gt aRTer -i) i



I T GYUT o 1S HR TG §, T &S 3 & 3Mafdd giar g |
II)MH&TQFWWWTWEW? Ya (P) & ATy STl Bl
nu)aﬂﬂﬁﬁwrﬁr%mﬁmﬁr?@qﬁmwmm%l

iv) 3TTafer geprer 1 faodiet e & AT 918 gRAT HoTers A STl 8
V) SUUT o HEF 3T & ofddd ST T 3R (X'X & FHR) A Sarsai
STATCHS HIo ST & |

vi) GUOT & HEZ 3187 & olelad =i T (XX & A1) ST arell Sargar
FOTTcHe AT ST ¥

New cartesian Sign
conventions used for reflection by spherical mirrors .

Object on the left

Direction of
—_—
A incident light

Helght
upwards. Distance towards Distance towards
tve | ¥ thelef (va) o terigit v >

X
B B
Height
downwards (-ve)
A
Mirror
N




i) The object is placed on the left side of the mirror i.e, the light is
incident on the mirror from the left side.

ii) All distances parallel to the principal Axis are measured from the pole
of the mirror.

iii)all the distance measure to the right of the origin(along + x- axis ) are
taken as positive while those measure to the left on the origin ( along - x-
axis ) are taken as negative .

iv) Distance measured perpendicular to and above the principal axis (
along + y- axis ) are taken as positive.

v) Distances measured perpendicular to and below the principal axis (
along - y- axis) are taken as negative.

Section B ( Chemistry )
Ans.11.c) N,

Ans.12. b) FsATATS
b) Endothermic

Ans.13 . BT

graphics

Ans. 14. The property of metals due to which they can be beaten into
thin sheets is called malleability

T3t e e 3 el et 35 &9 3 TR e & aqoT
AT Fad & |

Ans .15.a) Ad R glsil Hcd § dUT R, A T TEY IT&AT ¢
a) A and R both are correct and R is correct explantion of A

Ans.16. Those chemical reaction in which a single reactant breaks down
into two or more simple products are called decomposition section



Example :

FeSO, —"o', Fe,0, + SO, + SO,
ferrous ferric sulfur sulfur
sulfate oxide trioxide  dioxide

Taiteter JrTATHATT - Toret Tt HTRTHATIN 7 Teh 3iTHehAs Tlol
Hagdl H T ST &, 3o¢ [daTSTsT (T8 )3 TATHAT Hgd o
-

FeSO, o', Fe,0, + SO, + SO,

ferrous ferric sulfur sulfur
sulfate oxide trioxide  dioxide

Ans.17. Na ,CO,x 10H,0 ¢IraT gisT
39T 1 2 i, I 3R TS 3SHET H 3TAET

2. SToT hY TUT HENAT T ¢ A H 39197
Na ,CO ;x10H,0 -

washing soda
Uses - 1. Used in glass, soap and paper industry .

2. To remove permanent hardness of water

Ans. 18

a) flafer=r B
b) faferaer C
c) faferaT A

a) solution B
b) solution C
c) solution A

Ans. 19.i) 3Fe+ 4H,0/ |Fe;0,+4H,

ii)Ca+ H,0[ ]
Ca(OH),+H,



iii) 2K + 2H,0"J2KOH+H,
3dr
Tfest vg 3T # Aefaf@d dis 3R &
gfest
|)a“;n$ﬁ$q—crr2?ﬁmaldu dg 3eloh 19T UTT ST & ,TfaeT hgolia &1
||)Eﬁﬁﬁm$ﬂﬁmﬁqr§3ﬂ?ﬁﬁl
iii) Fﬁﬁ@ﬁﬁmﬂﬁ@ﬁl
ITEF
i) 9% Giol S8 @ U131 T UTC FAT Il U TSI &, 3TEh
gl g |
||)Wﬁ%ﬁmm@?ﬁ%'l
iii) T3l 39T Wi ga B

Or
Minerals

i) Those natural substances who contain mental or their
compounds are minerals.

ii) A mineral contains less amount of metal.
iii) All minerals are not ores.
Ores
i) those minerals from which metal is extracted easily and
economically are called ores.

ii) an ore contains more amount of metal.
iii) All ore are minerals.

Ans. 20.
a) FTseFellUecsT &1 T - CsHyq
mﬁmaﬂ?sﬂﬁﬁﬁgﬁéwm 9 PR &-
'G‘
S

b) 3Tehigel dAT HIElTFH olh 37Fcl H AR o (oI [oeeT JIIET fhar o
THhd gl




gqrafor
i) 3T FEfae aieToT|

i) forcaa adigToT|

iii) & KMnO,, 9draToT|
3edlgdl

i) I foham Tl giei|
ii) 337 3 P15 IRAIA =T8T BTl
i) T a1 AT 8Y ST B |
e foleh el
i) CO, 3 3cafaa g g
ii) eI forcH g ol 8 ST &
iii) &g Teha 18T gIci|
372rar
a) i) WUsIgH 31
HEIEGIE

10



Ans. 20.
a) formula of cyclopentane - C ;H,,

Structure and electron dot structure of cyclopentane is as follows
Fig.



G
g@.@a
G e%z@

b) Test
i)Na,CO;test

ii) Litmus test
iii) Alkaline KMnO, test

Alcohol
i) No reaction

ii)No change
iii)Pink colour
disappears

Carboxylic acid

i) CO, is produced
ii)Blue litmus turns red

iii) No reaction
Or

a)(i) propanoic acid
(if) Propanol

12



Section C

Ans 21. a)XX
a)XX

Ans. 22 b) gTH, g AT AT |
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b) grass ,goat and human

Ans . 23 3715l IR
Ozone layer

Ans. 24, 3{3cTIRNT
Pancreas

Ans:25 (a)
(a)

Ans . 26.
mﬁmﬁwmﬁmﬁmmﬁmﬁmﬂﬁaﬁm
g gl %W%ﬁ%ﬁ’rﬂmﬁﬁ%rmﬁﬂbwd RED qsum %mm?ﬁ%‘r
wﬁr@uﬂarmﬁamﬁvﬂwqﬁm%aﬂtmmam%l

The spinal cord has a major role than brain in completions of reflex
action. The message of stimulus from any part of the body reach
rapidly to the spinal cord and response is transmitted back to the
concerned muscles with the same speed and the action completes.

Ans. 27.
GJTITUT

i) TR19T 1Y & GRIT0T BT Ffcierar I TG e=AT IR3T0T Hgellel ¢ |
ii) 39 fohaT & JIA=ToT et Felc |
ii) 7E R 3o 9ot & haer et @I B

IGLEG

i)eTX Ue ATCT JaA & Holdel T fshaT fAS<eT Shgellal ¢

i) fohaT & JareTol deTc & |
iii)rg Toha 3T gaT & il v Siq3it alet # giell &
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Difference between Pollination and fertilisation:
Pollination

i) The transfer of pollen grains from anther lobes to stigma is called
pollination.

ii) In the process, zygote is not formed.

iii) This process takes place only in the plants of high category.
Fertilisation

i) The process of fusion of male and gametes is called fertilisation.

ii) In the process zygote is formed.

iii) This process takes place both in plants and animals of high
category.

Ans . 29. A o He T Teh AT Qe LT THTH aieT 4T Gl a7 o st
o TUT g Y o dleT FIRER TAUT G T & | 3HA =t Gl 1 Teh
HehIOT HTAT|
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F, drer & Teft gt & &iet aiter 31K 9l &| S8 9dT IeldT ¢ 1o sl & Jiel
o dTelT a7 FTel oT&T0T & AT SIGR &Y Td 8T LT JHTT ofaTor §| S8Heh
q2ard F, mﬁwﬁtﬁwwmamwﬁmﬁrmmw
m?rcrrvcrgml Fzmﬁmmwmma:ma%wasm.m
TYeT Ud &Y 17 & Sie arer A 8t uree g 3 9HR,ZRIER Ue &Y T %
@Hﬁﬁﬁ?ﬂﬂ-@ﬂ%@ﬁ@%@?ﬁ%ﬁ%ﬂl
et 2 gTe SETO & FraT HASeT TE YeRid AT & B e e
TIAT §G I GAIT 81 &

372rar
oATel Poef aTel GIEY & GoT T sATell 3T THTAT T&T0T § STelfeh SHBT Hihe, a7

3TATAY SI&TUT & | ST silel Goef aTel e ST HehOT Hihe, Pot dTel GIT & YT
ST § Al 36 Uk ol fola=t [T gan geiffar Jrar g

BB Bw
Blue Blue

Bw ww
Blue White

Blue: White
3: 1
1)F, dafd & @t gelt T TaT el g1
2)F, "afd & TTURE0T ¥ 9red F,adid &
1/4%x 100=25%
Pol {31 The & |

Ans. 29

In order to study the inheritance of two pairs of contrasting traits
in pea- plant, mendel selected pea- plant having round and yellow
seeds and other plant having wrinkled and green seeds. he cross
breeded both these plants.

After cross breeding of both these plants he obtained only yellow
and round seeded plants in F1 generation. This experiment shows
that the traits of round and yellow seeds in pea plant is dominant
and the traits of wrinkled and green seeds is recessive after this he



18

cross breeded plants of F1 Generation and obtained plants having
new combination along with the round and yellow seeded plants
similarly he also obtained wrinkled and yellow seeded plants along
with wrinkled and green seeded plants the new combination of
traits in plants shows that traits are inherited independently.

Or
Ans:29

Blue colour of flowers is dominant and white colour of flowers is
recessive. Cross breeding of a plant having blue coloured flowers
with a plant having White coloured flowers can be stone shown by
the following diagram.

PPPPPP BB
Blue

O3t

Bw (blue)
Bw x Bw
l Selfing

F, generation | 9\0\’ 1 B w
! |

I g BB Bw
| Bue Blue

Bw ww
Blue White

Blue:White
3:1

Ans (1).All the flowers will have blue colour in the F1 generation.

Ans (2).1/4x100% = 25% percent of white flowered plants will be
produced in F2 generation through self pollination of F1 plants.

Ans. 30.
a) Teh TiY T 3TIEY e Hl -
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[

b) a8 YshH fSHA Y A g A CO, 7T HeT A WiAeT FquT U STel ol
aﬁ%warﬁmﬁmmﬁ%sﬂw&rmﬁwm% ThT2T HLATOT
T & NI T fd HeaTy grar &

i) FARIeT GaRT YR Foll &l T AT

ii) TTA ST I THI AR Foll H FATARA HIEAT|

i) SToT 3TUT3T T BTSZIoTeT T JTeFToTel # 3TECH |

iv) SIeeT SISITFHSS I HIEBISIC H ITTIA|
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3dar

a) ATId G &l cTITATcHSb hIC ol £2T

i & a'qém’r
S0 W
I & o=
T & HETR
T e
a1t e

b) TR & &Y

i) ST 3 eTsfoleT AT USITSH 8T & St Ty T & aRafad & &dr
ﬁ)lwmﬁﬁmaﬁwqmﬁﬁaﬁm%l

O T &

)39 T & 3URTUd USISHAT i TohdT & Tolv O 10 #ATETH T &R
AT 8 |

ii) TE T % I3 ghsT P OIC-OIE Thsl A 1S AT ¢, TE A
SHCHIHIOT Ed ¢ |



21

Ans. 30.
a) labelled diagram of cross section of leaf

b) A process in which green plants take CO? from air , water and
minerals from the soil and prepare their own food in the presence
of sunlight and chlorophyll is called photosynthesis.

The following events occur during photosynthesis:

i) Absorption of light energy by chlorophyll.
ii) conversion of light energy of chemical energy.

iii) splitting of water molecular into hydrogen and oxygen .
iv) reduction of carbon dioxide to carbohydrates.
Or

a) labelled diagram of cross section of human heart:-

b) Role of saliva:

i) Saliva contains an enzyme called salivary amylase (ptyalin) which
breaks down starch to give sugar .
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ii) Saliva also kills microorganisms present in food.
Role of bile juice:

i) Bile juice makes the medium alkaline for the pancreatic enzymes
to act .

ii) It breaks large fat globules into smaller globules which is known
as emulsification of fats.
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